1) COMPLETE THE CHART:

LONG FORM | SHORT LONG FORM | SHORT FORM
G O T FORM

- HAVE GOT HAVENT 60T
2 [you 'VE GOT HAVE NOT 6OT
3 |HE HAS GOT HASNT GOT
4 [sHE 's GOT HAS NOT 6OT
5 |IT HAS GOT HAS NOT GOT
6 |WE 'VE GOT HAVE NOT 6OT
7 |you [HAVEGOT HAVEN'T GOT
8 | THEY HAVE NOT GOT

2) COMPLETE WITH THE LONG FORM OF THE VERB HAVE 60T:

1-HE PRESENTS. (/)

2T BIRTHDAY CARDS. (X)

3 - SHE A BIRTHDAY CAKE. (/)
4-WE A HORSE. (X)

3) COMPLETE WITH THE SHORT FORM OF THE VERB HAVE 60T:

{~7 A CHICKEN. (/)
2-HE CHERRIES. (X)
3 - SHE CRISPS. (X)
4-you SAUSAGES. (/)
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